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Passage:

Tepa:— relifaiad Tenst ufden wymt deaermm: Sfadary s far faadl

T gufay & yRe aman) e Rwmd yon ol o eM® IEI: Tai W1 3 UG T: Gdal YOART: $H% WRA oS e 4oy 1 gdfe: aaq dnht ol et deeie Sdn 3wl w1

THal gl PRIV Ggo: ToH ST5d | HF=<HY o TR SYd-"4aa: o< Iy & eww 2" Y9fs: Sare- " 71 9aR: SRRea!: A1 UyA: g I aq HH SMuRieTd aar Xeifd | fidia: §%: o e
TR 7€ Fdal A= Ay dibied T HAM 31" G Hodl 9% TROAN: 3Udq

Q.No: 1 gggcf: gdfdy e sramy?

A Fdn
B PiEcall
C g
D HTH|

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

idpa:~ Sfefefad T ufan Uy fasearerd aeg: Ifadany It fuar faad|

T gifey o1 ufe AT g ot o SMfiq) 9 S SENT: Fai W1 Sfd UF : FdaT HRAT: AR TR S FHw: e W1 gafe: draq ot i) s eeeTe B sof W1 W

THA gl PRI Yoo ToH SATSd | AHF<H o THT SYd-"4da: < Iy & eww 2" g9fs: Sare- i 71 9ar: sRgReaT: I Uym: g I aq 11 SIuRieTd aar Xeifd | i §%: o e
TRl 7§ Hdal = Siany didfed 9 S gid 1" Gafa: Hsdl 9% aRun: Sudq

Q.No: 2 gaf: b o swfa #17

A Rkt
B SORGH
c YTIIE FgA|

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

idg:- sreifefad eyt ufean uyr fAsearererae: Sfadany Ia¥ faar foadl

TS gdfay & uRST omany) Yus: favid yoe omfiq| o oM JE: Tl W1 3fd TG §: Gdal UIAr: $A% WRA oF=g FIm: vafa w1 gdfe: araq dndt omfiq) oifteiis eaeyi’ Fdn 3oia Wi W

TPal e PRGN Yo TH TS| < O T - Had: < Ay b owam 7+ gafs: Sard- e 7 9aR: SigRaen: Wil | Tum: § 9 I 7 S(ORTeT 99a e fidia: 9 o Ja
TeTaa 378 el SMF-eH Sialy disfed T HAM 31" gafe: Y o TRon: sudq)

Q.No: 3 Hae: < A=Y 6 TEH- T TSy

A Rcaa
B g@‘@{: I
C g
D Rl

Correct Ans : B

Subject : Sanskrit Bhasha 02

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 1/42
Page - 1



Passage:

Y- srelifare et ufdan wumt fsearas ve: Sfdany s faar fawadl

i gfey o afe! s gEs: e Yo SR T Md SEURT: Taf<y T 31 U9 §: Tdal UHaAR: S48 SR S e yaly 911 gdfs: aaq ol emfiq) sifteiis sraee o 3= ¥ ud

el Y DA S TEH ST SFEHA o T Y- Had: < Wy b Tgew] 7" qafe: Sar- el 1 TR SEReE: T | T g A T A1 SRTHIq Gde e fdia: Je: o wafq
el ¢ TdaT S Siany disfed 9 S 31" gdfe: Y o TRom: Suaq

Q.No: 4 i HH Ja@R: SIgR&DI: Wil | I FreAde e ferad|

A |
B TqaR: |
c o

D gl

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

e Sfeliferae et ufdan wumt Rsearas ave: Sfydary S far faeadl

T gafey &y e ges: R yor Sl o e I Tl W1 3 UG §: Gdal YOAR: $H% WRA S-S e 1Ay 1 gdf: aaq dnht o) e deeeu’ $dn 3ol w1 W

TFal gufS: PRGN YIS TEH S5 S o TR Sq-"Haa: SF<w Ay S Tgwam 2" ggfe: Sarg- "fm 7 gaR: srgreet: i | Tym: g e I 1 SuRTHTd ada ¢ifd | fida: 9 o Jaiq
TR € T S S Apfee @ SAM 31" i S % TROm: S

Q.No: 5 lia: fb fa?

A < IRafal
B SURTHT X&ifA 1
[+ ST &t
D T vafl

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Toha:— SelifaRad Tt ufgan uymt feeaerema: Ifadary st frar faed|

I cdley 1 o e S| gg: fame wae Sfiq) O SM® IEI: @i W S U4 §: Fdal JAie: S WRA S-S Fem: afa ) gdfs: aaq it o) sifteies o ey’ Sur SO W1 9

THal gofS: PRIARI Ygo: oH ST | SHF<GHY o T Swd-"Haa: siF<d Ty & 3ewH 2" gufes: Sarg- e 79 9ar: sriRe!: 91 uym: g 9 aq | SraRieTd gdar el fidia: 9 oF gaf
BT 38 T Mo SaIy Aipieed @ AW 1" golf: s a8 TROMN: (e

Q.No: 6 Tifed T PN 3 HqUS B2

A A
B ]|
c g
D )

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

dara:- srelfefed TR ufda@n uyFl [Asearerraea: Sfdard Sad [T faad!
TafS: gafay g ufa) s ga: fasme yae Sfiq) T oMd SERT: Taf<y W ofd U9 9: Jdal Ugafe: SR WRA o= Fam: vafa w11 gdf: araq el smfiq) siftieiiss saeue oy sofd Wi wd

T G PRIGRIN Yo ToH STSd| SH<HY O THT ST~ Had: < Wiy b Tewa 2 ggfe: Sama- " 71 TaR: SigRerdn: AT Tuw: § 9 a9 A SRTeT Saar &) fedia: @ o waf
TRTIAN 37E el -1 Ay dibfeed T HAM 3fd1" Fafe: Hedn o TRuMAN: 3udd|
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Q.No: 7 ¥ - UGwq fRraal

A M+ gl
B /W + 4l
C T + I
D RE: + T

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

opa:— iR eIt ufawn Wy s earerd ae: Sfadan St e fradl

T gdfty 1 oS! oman) YuS: R yo e ol o oM EI: @i W 3fd TG T: Jdal TRA: SR WRA g P vafa w1 gdfe: araq andt omfiq) siteiis e’ aidn sof w1

Tl oS BRG] Ygor: Vo HTDq) =IO TR SYDq-"Had: < Ay o Tewam 2" gafe: Sard- "fm o IaR: sigraet: Qi | Tm: g e aq [T SRt Tdat efa | fida: ¥ o Jaiq

eIl 37§ FdeT S{FT-e- SiaNy dibfed 9 UM Sfd 1" Gafa: Sar 9 TRUMAL: (Tad|

Q.No: 8 &k 3T M U< fbep?

A Rt
B il
c arhi
D Pl

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tpa:—- AN werier ufdar wymr fAscarereReg: SRidarm 3w R fad)

TN TORYY O af

A FRior vrer aqaf=y g o
SRATEIAT: Fagi= e
YHGHARITE Ha-FaT: |1

Q.No: 9 T[U7 Y T[T Hafa?

A forfory
B TRy
c 4Ry
D iy

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

ara:- fefifefed vasr ufean nymt scaae med: Sfadar S far foradl

O JURY TN

o ol ure vl )
ST Tagf T
THEHARITE Ya-<guar: |1

Q.No: 10 F: fbewy: vafwr

A SRTgaR:
B &

c SRARFAT:
D &k

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:
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Habd:— ST Teit ufdan vyt e ra: Ifdarr Sw e forad |

O TORYY O af

q fRivi ure vl E
SfRATEIAT: Fagi= e
FUGHRITE Ha=<auT: 11

Q.No: 11 "I YURNY Ton vaf~ ot fomame e off -

A o
B TRY
c o
D ol

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

a:- srelifeRad vaiy ufean uym Recrras: Sfdaary IW e fored)

0T TR O

o frfot ure vt <)
STTEIIAT: TRl T
EHRITR Ha-<auar: |1

Q.No: 12 U1 30 faaimueT wersy aif-

A fatrn:
B R

C frfam:
D 3o:

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Hope:- teNferct wersr ufdw@r gyt fasarerervy: Shidarm Sw fuar faadl

O TORTY T e

a frjot ure vt g
SRATEIIAT: Udgf T
YYSHIATR Ha=<guar: |1

Q.No: 13 & W% & T ik

A FES

B EeE-ce
Cc Jutfa:

D L EELRINN

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

- Srelifeiad ue ufdan uymt e my: Sfdaar I e forgd |

O TORTY T Sl

d frfol v vt g
SRATEIET: Uagl= T
QISHATITE Ha=<aqaT: |1

TRy 3 &1 faufd: af@r
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Q.No: 14 ST T TaameTs Smie

A LEL
B Tt
C e
D gt

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Toba:— relifered vanst ufdan uymt faserrasaa: Sfaday 3w fwr el

O TR O Haf

A Frior vrer vty g
ST Yagi
THEHRITE Ha-udT: 11

Q.No: 15 'Fre A Tsd F: TIG: SHfRa?

A CSl
B wq
c iyl
D ]

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 16 ‘SRI: --- E0 Y FAf g Raawm i ug wgfram?

A o
B o
c o
D Y

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 17 'B: HRi--- Ia1d' 30 R wgfd ug fFe

A e
B firem
o ARy
D R

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 18 T FHa &1 faufaa:?

A =gl
B Lt
C u§t

D gt

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 19 <Ioies: 34 U &: IuN:?

A E-TgeN:
B qgdife:

c IIGAGE:
D YR

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 20 gaw' 3[4 Uew &: WR-fIwde: wyfa:?
A '@ﬁ+ﬁ'ﬂ:
B HI+T:
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C g +Th:

D TA+qu:

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 21 eNiRIREAY Far Iz Wi Riervry Ied ke
A TGHUSRE FEHRO

B A YOHTHG AT T Rfrepara: faere:

c AU S&R:

D wiftaueTw e

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 22 IEifIRIAY Fo HAIRIH A SR U TR ulshar wuifad =1 Hafa?

A ifirgfr: Taw sftmom
B B Ui ReTE ARR:
c 3N TIBTET: UIe: Mo

D Rigrps feafiam
Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 23 fefifAREy fawedy wrewgemiy fban Ra?

A wRiTor RIfeRET SirierT
B I Ule:

c DY Ty

D Sfe arat

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 24 f3H, W difsdl, TalfaeH 3ames: il

A WFEdAR JUHRU
B TTSATR ST
C TR U

D YT 9 {deea:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 25 PNy YAy T FuH K afs fras RsrrgeR 76 9o TeaT?

A pT: ToIEE-aR0y
B T WoRRRAYS Fre o SudTe Hdfy
c FReR-srargRT ofi: wafa

D e i wafarony s frat Fd
Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 26 HFMSIPHA-UI&UIHl A=Y THH 3 MR T~

A A TR0 YRR §a: AR a1 o@: vemifoe: 9
B QAU TSI AT Hrfe~ae KT

c e e ST SYd 39 od e

D q S & W fe e uweatay

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 27 T ]-HEIGAITENR ---- HIur: e det mecagqef ead -

A YHINEHERET: (Social inteaction)
B Yi6a9&i®H (Textbook)
C ¥ g (Radio)

D TEH: (Dictionary)
Correct Ans : A
Subject : Sanskrit Bhasha 02
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Q.No: 28 TS: HgdIAc: TAIGRIHIY : | G Tatef TfegH 3| wa d $U SrRiY PRI ?

A e Traref ffeq < are
B Tare 7 Fa Ak |

C P el R |

D Tare} e wed ar 2

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 29 TfHER BE: §F: YrF: fpaamon: ior: 37

A FERGIST:
B Sepra

c THAT:

D HREAFTGIT:

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 30 TESRUT HII- ST Tl Heaquin o
A HRRTA-Reg- iR arfmio

B gty
C PR e SRy
D SHFrHIESHI TRl $ToR]

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 31 Y1 &) el § fRugror arel & WU § werd T4 31
A wE-ufeTy

B grea-Traf

c wETH! g

D A, puf

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 32 T & edic H Afod daid SIS qba 76! ol § D -

A v o grgA ¥ 99 3 59d B §
B Riejes B Foil B Fud DI §
c R4 B Tg SATBRIT B BT AR Aol § 6 T P I T N @ET ¥

D ol oF anfe® =4 & Wi T8 € &
Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 33 gl Rigmr 9 Iugad fafy 3-

A ST

B SFTA-FTA
c A

D g fafy

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 34 dEE®! & R’ W snaRa wen & ....... R e Sfep aa far o 21

A HiIaT G

B FEr

c Frl-vEe!

D RER 3 foan

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 35 = & | Siarr Bz 7 Faliis 7 Aeayqyl 82

A [ TR
B e g R & SRR oo a1 w8 W
e amft
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1N wen

C
D AR ool vd Y IR
Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 36 ‘U 3aTe fafd & wF W i wmr e 3 dmfe vl 3t saxasar aduym e gfoufed a2

A SRE A

B S faftrawa
[ S B ¥
D W 3w 3

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 37 Fmfif@a & 3 frg dieht & por w1y SR St Wit &1 gorm gai ?

A Ebi
B SIHTST
C Saeft
D e

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 38 1 # § AT &1 o e e & el e fovan HiA-d Feit ugeh 82

A S Bt
B o @t
c g @t
D g &t

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 39 fAm & 3 fora1 RRa wHa sreamues & o a1d @t e | @l <Ifeu 2

A BTl & ¥37 BT < g &

B forg & o AT 1 SRATy HRET AR

C IS Bl W SHTeR] A Tl & G WG Bl Aot

D B & Yo7 BT ¢ SUgE B, forgn 7 i quitTe 1 SRy SHRIAT AT T SEUs St Wy MG kg a=df & THST WRgd AT =Iigu|

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 40 31e¥ dE- & UYId SH-U1 dE Ha9S B0 § [Ha1 ST A1ige?

A fayrg arem
B UG are
c TR AT
D B T

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 41 IUERIAS R0 B e FfRk wwdt 82

A TG 9 3@ )

B TR ¥ FROT 3 T T R
¢ IUEARISD TRI&01 Bt FRl |

D Wi el & I R

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 42 IERUME Yeuic &) faQwdiy ¢l §
A ST AR ARG

B fsrfiaar SR Jear

c T 3R e

D SETERIRGT 3R Jear

Correct Ans : D

Subject : Hindi Bhasha 01
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Q.No: 43 FFRIRd A1 & wRT # G o3 B § ?

A S
B Eitca
C Eatca
D HRE T e

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 44 1 e & el sor Gere it o1 SudnT foead gar 37

A T e &
B TS e &
c & FERY B H
D & Ug w4 fergA &

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e T R g T F ugaR @ M U & el SiUd SaR and [aded &1 997 Sifer-

SR H AFGAEIG AT $ [T 3R §89 Jad 3 & T 78 9 IeR ezl & =1ferd g o1l dafiae! iR T Tt & 79 # 39 e o1 ¥ 9gd 8t SaR ¥, TR agR § T3 i IgRdT $ad T
g wiaRie Rl 1 € Iuet R gaR 3w f 72 Sla-wifte & wf @ i ofiaq-erexi w1 US| AFadiarg o s, e, s ufddl iR IR & uly Wergyfa &7 v o ;oI wr-wy e o ¢

F AU Bl T H I Ugars | i A & U WUy § ofR e ura Hufty e 8, I SR HHa BT T UF R i faved Sget 78 ofR g8 TR ATdr 1 3} garaw B Jgelt W g R Wl 1
IR 311 59 ubR e & wHienn o fipa F9 7 e 7 38t

Q.No: 45 Iudad Tew & fore fmr & 9 3fd <lide &1 777 -

A Taar & Ik Bt iR

B TFaaEg

C TG BT 9T : T faweer
D TN &1 FarawT

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

P& A foU U TR B UgeR IR U URAl & 9ed 3 SaR a1 [9dHed &1 99 Siferg-

SRY & AFTAIE AFadT S 0T 3R deF Jad 31 & (T 7eM R ISR Sfexil § Fiferd g o1l dafiaed! ok e Tiftet & 7 & 39 ey &1 ¥ §gd 8 3aR oI, |R JagR § T8 &I IgRdl $ad T
% Wit fari 3 € Iuet i gaR 3w F off 70 Shaa-wnfed & Wkl & A6 offaq-orel S US| Aadmare off o, <, oo ufddt ofR I0fEET & uft ey o1 va oft smar; SR -y e o ¢

F Ay Bl ggi-  YgRIAT Ugars | o Al & U Wuly @ 3R fomds ur wufi w1l 8, I ik e ST TR U kW it fawwdr sgdl 78 oiR gudl e uedigar it 3d) garawn 31 3gell W g o 9t 1
JaR fednl T UHR Al o1 AteH  fapd w9 # wder g Satl

Q.No: 46 = & I frw <req-gm o1 Wl Suda TTerier F =ik o e §2

A 3fa- ofg
B fR-¢fi¥
C Sgd-ggd
D -y

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

&= - o e iY@ ugaR g T Ul & 999 Ifd IR 9l fawe &1 9ae Sifn-

SRY H AFGTETG THTAT $T W07 SR §e Gad P &b O 7o 3R 3R eIl 9 Fiferd gofl Tl daidad! SR Hiied Bl & 79 § 39 SM1eR] o T 9gd o 3aR I, TR AaER § 79 $I JaRdl $ad T
da wfoite ARy @t € Iuw 4t gaR A F o 79 er-wiftw & Wt § 7d siaq-anesf S 91 Aradarare o s, e, sierufadl SR IR & ufa wergyfa @t uia ot sm; SR wry-mry i ot @

F Ay Bl Tgi- B TR UgaTs | o Al % U WU § 9fR e ur Jufy e 8, ST SR 1R 2aT TN T R o vt dget 78 $fR gE @R Aaar Bt 3d) gaaw Bl el W g a Ul :
JaR a1l 39 USR Al o) HigH W [agd U # e 8 33

Q.No: 47 Iudad T & He H, AFad $ I BT URUN Wid T o1 ?

A A $Y 0T Y Hod HRATI

B T Y S8 F I Bl

C T Y T 3R e & ot Bl

D THEA $T AR TR R THE 7 FAI

Correct Ans : C

Subject : Hindi Bhasha 01
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 9/42
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Passage:

e R e U TR B ugwR g MU U & a9 Sfud IR ard e &1 999 Sifers-

SRY & AFTAIArE AFadT $ Q0T 3§67 Gad a3 & (T A8 SR ISR ofresil & Fiferd gen o1l dafiae! ok afge T-iftet & 7 & 39 3exf &1 ¥ 9gd € 3aR oI, | JaegR § T8 &I IgRdl $ad &
7@ Wit fRERi 3 € Iue B R 39 F f 72 Shaa-wifew & W & d offaq- st S US| Aadarg off o, s, s ufdt ofR I & uf weryfa &1 va of s, SR wry-wry gt o ¢

¥ UM B FgM H TgrId] Ugas | o dnl % U WUl § SR oM Uy Wufty €T €, ST SicR WHdR 8idT T U NG o fAvHaT dadl TS SR g W Igar 3 odl Jataw 3 Sgell W ugy o Wl |
JAR f3a11 39 YR A7sar 5 AigH Wi fdpd 0 d HiHh g1 31

Q.No: 48 fmfifRa & & Iediear &1 1 3 garr ?

A 4 IER AMGAIEIE U g St IR F Gt g @
B R B IMSCHIE F IRUT SFYd A B

C o U $ RIF R 1 B 7ed ¢ T

D S ATYfF T BT HE URH 7 H m

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
A D fow T TR B UgER U@ TN Ul F e 3fd SR I faded &1 99 Fifvre-

SRY H AFAEIE AHad $ 07 3R F89 o H3 & 1T 78 3R ISR /1asil & it g o1l dafiad! iR e Tl & 79 7 39 ey &1 $U 959 8t &R ¥, TR JagR § 738 31 IaRd $ad T
a@ TRt faari @t € 3t o gAR < o A Siia-wfed & Wi § 7 Slia-enexl 9 US| gradrare oft s, aferd, sterufadl ok SRl & ufa el &1 via of omar; SR wy-wy wsdtgar ot ¢
F aY Bl FgiM T YR Ugars | o Al & U WUl § 9 foFd ure Hufy e 8, ST SRR HHaR BT TR U TR o e agelt 78 SR g TR Aear ot d) garaw 3 Sgel W ug R Wl
IR faan 0 PR wsdr &) AfgHn i fdpd U # i 31 31

Q.No: 49 e & § GerarT 71 R P B S T 41 off B2

A e o R B
B F FprH ¥ R 7E 3t g F
c rafie g ugarT

D S et B

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

P& R T T TR 3 UgaR IR T URAl & 9eY 3fd SaR a1 [admed o1 99 $ifeig-

SRY H AFGArdTE AFTdT ST W07 SR §e7 Gad PR & O 7o 3R IaR SHTeRil 4 Fiferd gofl ATl dardae! SR Tifed Tl & 59 § 39 e & T 9gd o 3eR T, TR JFaER & 778 i IaRdl bad T
g% Wi Rl 1 € 3uet B IR 39 F f 72 Shaa-wifed & W & i sfiaq-srexi S US| AFadiare oft s, s, s ufd ofR I & wfy Seryf &7 ua o s SR wry-wny e of ¢
F Y DI FgM H Jerdl Ugars | o Al & U Wl § SR foFe U Jufty e €, I@T SR Hia ST T T G df fauHaT Sl T8 IR G W IEIar S od! aIaRi 3 Sgell W ugd IR Ot |
IR f3a 39 TR wgsdl B AfeHl + [dpd 9 7 1 g 31

Q.No: 50 IuYa TR & AR, S HUT I T4T HIfeIe-

A AR 39 F 2t 73 Siig-aiiee & W=l & T Saq-amesl s ugl

B o7 it & ur Wiy ¥ SR oS IR Fufy T ], ST ofeR WA g T

c ofEredt =it F TG UIET $ S5 TR A T I $ R gRmin iR gl & Jeom 9 3 a7l & ey @) 9gM ¥ Feddr el ugarg |
D SHRY H FHIAEIE TG S A0 SR S T F1 B T 7o SR IaR et & i g am

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

A A few e T $ ugw IR MY U & e Sid IR ard fided &1 959 Fifor-

SRH H AFGAIdIg HHadT $ 20T 3R §uF Had o3 & e 7e ok IR errexil § aiferd gon unl dafPdat SR wifee B & 7 7 39 ey & ¥ §gd § 3aR Y, R dgR § HIW &1 IgRdl Had T
qw® TRt faari @t € 3t o gaR & § o T Siie-wfee & Wt § A Slia-onexf 9 US| gHadrare oft s, g, st ufadl ofR SRt & ufa erufa &1y of omar; iR ary-wary dtgarn ot ¢

F [IYM B Ig T TR Ugars | R < & ure wufv ® SR e o SuR 76T 7, ST SR 4R ST T T WRE df AN dget S SR g e Iiar 3t 3d) garawn 3t 3geh W uga o
IR {3711 90 UPR Agea ) Afew W fapd w9 # ek 81 33

Q.No: 51 & & § -1 Yz “HRAT 1 yafaard 78 22

A Hedl
B afermr
C R
D yarg

Correct Ans : B
Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/42
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Passage:
= 2 fow e i # ugHR IR MY Ul & e SR SR ard fiwed &1 999 Fifor-

SR & AFGAEIE AHadl S 0T 3R d47 Jad S & T 78 SR IaR ofrexlf § iferd gon o1l dqafiae! ok Wi miftel & 7 7 39 ey &1 ¥ 95d 8t 3aR ¥, R JaeR § 7™ &1 IgRdl $ad T
o it faRt 3t € Iuw 4t guR A F o 72 SheA-uitd & et I 7d san-sresf S US| Araarars o s, s, st ufadt ok SR % uf wergfa @ wia oft emar; oiR ary-wmy st ot ¢
¥ UM Bl g A TRl Ugars | R dlil & g wuf @ ik R ur wiufky €T 8, ST Sick Hia) didT TN U RE o fauHar gedt 7€ 6k gt ww aedigar ot et garawi 3t Sgell W ugy av ol
JaR a1l 39 UeR Agsar o1 HigH W fapd wu F wiex 8 33

Q.No: 52 IRfFd TN F SR, TF U F R R R gy & Jen ad < o & aue S ggM H Ferd ugas |
A odf A=W & I e & 95 R A

B afgolt =it F I UIaT F S5 AR A

[o ufdeft 3= & =g W F Sgd WR A

D <ot 3= & IR HIT T & gUER 7

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= HToTiT H Yga Y T U F e IRd IR 91 ey &1 997 FIRe-
# g g3 o1, 99 o 3R 7 )
ol g o, T & B e
q e & el Y, gt qoRar 1l
i o1 g3 gaman, i & e H

R R @t o, g B ER R Y
# 91e Sigar o1, o e 7w i
TR & siy, W R sgiq
3G el o A9, 7@ A 2R o FHi
T oo R, & o1 g3 R
& A gl T, Ufeidl & e Hil
T o7 favet g, o Y st Wi
I R 3T T, 79 [t wa=
Seu ik goll &, = ¥ @1 Ul

H <l g U1, gopan del a7 A
T e et SR 7 it weT H1
T T T ur, & oRd of FUA H
A ua RydreR &Y, B wH @I Al
TR QS 3T T, TRIG Do Al

Q.No: 53 fm & I Iudaa ufdadl & Tafyar &1 4 Sase-
A TR Bt

B Agred! anf
C ieia st fRren
D IRt Rig e

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FE: Proai 1 ygex TP U U & G4 ST SR At e a1 9 Fifv-
# gedl g U1, S $of 3R 7 H1
T G AT, 76 4 B & i
q 318 &9 forelt 31, gl goRar Ul
T o1 g o, i & e H

R forg @t o, gREdl  gR WY
# 91c Siear o1, 3 et 7w #n
TR [l & ofig, WRW =T
sifg @it <t A9, 7@ 7 &k = Ful
1! gomaen 3, 7 o1 g g

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/42
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e A g T, Gl & e Hil
T o1 foRed ged, o St Wi
I R 3T T, 79 bt waa
d54 R goft &, q e # w1 4m

¥ et Sar o1, g Pl w9 Hil
T fear st erawR 7 fire Wt Hl
q & F oH o, & oRd ot A Hil
& ua R &1, H g @1 A

TR I G AT, RIS Pigeh Hil

Q.No: 54 = &  favad &1 fadm g 71 §2

A fogm

B SR

C SrafRiEdl
D Fe™H

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

= HToIT B Yga Y T UL F Ja IFd IR a1 Ridey &1 997 FIfm-
7 godl g o1, 5 Hof 3R T A
T g T, 9 4 P Fe qil
3R & Haft Y, Gl IR 1l
o1 g garar, T & weH i

R R @t U, PR F ER|R G
# S1e Sigan 41, R T =Tw #
TR 5l & sifg, W o s QU
1 Tl &t A9, 79 9 SR o7 T
o Freen $, F o g3 R
TE A gefr T, Ul & WeA Hll
T o1 faved gerd, o Y s wi
JYM R 351 4T, a9 g fbdt g A
a4 ik goft &, Q& w1 Ml
< Sar o1, gaar vet 9% Jil
T R st srawR 7 fire wt H
I HH H T o,  od o A Hi
W1 T RieR 3, H 9 X@1 Al
TR QI G U1, TREIG DIeH Al

Q.No: 55 Iuad U=Iie & ¥R - & < ufddi @1 quf sifere-
T e et srawR 7 i gt §, H H T a,

A A IR o Hl
B it 7 HeE H
C & oRg o1 B H
D oferdt & HeT F

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
=T S B UgaR YP T U & Ja9 Sfrd I<R ard fawey &1 T57 Hifm-
i Gedl g3 U1, 5 Sl 3R 7 Al
Eo 93 T, 7 < $ ged Hli
q 3R &1 8 31, g3l gpRar Ul
T o1 g garan, i & weE Fi
R forg weT T, G F ER WG
& 91e Sigar o1, o et 7w #i
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/42
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TR 5 & g, W R w1 qQ
it Tl off 79, 79 A SR o Hi
T oS $, H o1 g R
del A gefr T, ufddl & e Jil
T} o7 favet gari, o Y et Wi
JUM 4R @1 4T, 79 ¢ fFdt gaq H
S59 R goft &, Q= # w1 UMl
i a Sar o1, g Pl wed Hil
T fear et srawR 7 fire g H)
q & o o, & aRd ot A Hi
A1 var RydeR 1, H wH @I AT
TR ST 3T AT, TREIG High Jll

Q.No: 56 w1 § Q M &7 oref @ 2

A FW S
B o ffy w1 FrE & fes S
c R Y SfaReT

D = firem

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= FToIRT B Yga Y T U F I IR IR a1 fawey &1 997 Sfm-
# godl g U1, S Hof 3R 7 H1
o 93 T, 7 < $ geT Hli
q 3118 & Tt o, gl Y Ra Tl
A o1 g garar, T & weH Fi

R g weT T, g F ER WG
i S Sigan o1, R Tt = #i
TR ol & 3if, MRm s q
sifd @ft N AR, @ 7 Sk o= Fil
TS ST 3, H U1 g3t R
T T gl AT, uferdli & Wi Hli
A o1 faRad e, s 9 afyerar W
JRAM W 5T U1, 79 q fbt ga= A
a9 IR goff &, g & @e1 91l
@ Smar o, goar et a il
T R Pt e 7 firer woT H
T T WH T, F I o1 HUE N
W v Ry B, F w0 @ Al
IR &1 g3 YT, BRE1S Diga Al

Q.No: 57 Wieifad ‘g TIfd A9 Sgex Her’ &1 orf F1 82

A Ed ST S AT A TR ATl
B ARAGH & ST BT
c W B A R S T A

D gaw & /s
Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

= T Bl UgaR P T TR F Y I IR a1 faded &1 99 Fif-
T gedl g o1, 914 ol 3R 3 H]

q T 59 U1, 9 9 & e i

3G & et &Y, BT GHRAT ATl

# o1 g g, Fia § HeE Fi
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R R Es o, gRA FER WG
# 91e Sigar o1, o et 7w #i
T ol & oiig, MRmsgrq
i@ wft ot A8, da 7 SR o= Fi
11 gonaen 3, 7 o1 g R
T M gl AT, uferdli & Wi Hli
T 7 faRad Gerd, 51 Y ifiegar W
JRM R 6T U, 76 P fobddt ga Al
daq R gofl &, Q& ¥ @21 UMl
H Tl SEa o1, g1 el A H
T faar srat srawR 7 fira gt H)
T T T T, F R o HUE H
& T R B, & Hg Al
TR &1 3l AT, BREIG Dlgd dll

Q.No: 58 IUYad I & STER A &t 7 ufdwd 1 quf -
SR ofl-aroll &, B 41 g R, ael o @ gaim o,

A A IR o H
B Wit & wor #|
C # 1 o1 T H)
D uftrdt & HeT H

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

FE: DI BT TR TP T YAl & T SFId SaR a1 fadbed 31 999 PIR-
A gedl g U1, S Hof 3R 7 Al

q T G U1, 9 4 B geT Jl
q 318 & el 31, gl YbRar Ul
T o1 g g, Jeid & oS F

R fore @eT o1, gfEdl $ gR R g
i q1e Sirgar o1, 3 et === i
T P & oifg, MRmserq
i il N AR, a7 ek o= Fl
T g F, 7 o g3 R
T P T gl AT, uferdi & WA Hli
T o foRad gerd, o7 Y st Wi
I W G U1, 79 G bt gaq A
a9 iR gsff &, g & d =<1 U1l
<t &gl o, Fepa el @A A
A faar saT SiawR A e g A
G0 H T o1, F I o HUE A
W v R @1, & w0 @1 Al
TR T ST ol AT, TRgIe Dl Hil

Q.No: 59 & & Iamg § HH-91 99N 82

A TGEY AN
B e
c feg wmr
D ST THN

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 60 f=t & 3 Rerr &1 arer Hikd Rem AT wtrelr §, 1w
A AT P A, T T fgRY 1 e 16 < o #)
B
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c Haw a1 Y HI B i Bkl 81

D e dIa B SR St wrfiwd g 2
Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 61 What should come in place of the question mark (?) in the following question?

2466879
04x1.8+02x12=7?
fafifed oy & uyars fag (2) & RIA T T M 9Ifge?
04x1.8+02x12=7?
48
A
48
46
B
46
42.4
C
42.4
43.2
D
43.2

Correct Ans : D

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?

2466951
(42x 213) + ¥9261 ="
Faffad vy & Tyares fag (2) F RIA W T A AOIRT?
(42x 213) + V9261 ="
418
A
418
426
B
426
420
C
420
436
D
436

Correct Ans : B

Subject : Mathematics

Q.No: 63 What is the least number to be subtracted from 945 to make it a perfect square?

2467076
% quf o7f o & o 945 # 9§ ger el T B T @ 32
16
A
16
30
B
30
24
c
24
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45
Correct Ans : D

Subject : Mathematics

Q.No: 64 . %2 _1¥x2 -4 .
2467814 On simplification, ( X ) gives:

2 =x-2(x2-x-2)

WAGUR, =W -4 a2

(2 =x-2)x2 —x-2)

o

Correct Ans : B

Subject : Mathematics

(221.1'\:507:86352 Solve the following:
G- _,
5+7
forafaiaa o ger
& -2 _,
5+7
-4
A
-4
-2
B
-2
-1
C
-1
-5
D
-5

Correct Ans : B

Subject : Mathematics

Q.No: 66

1 4 :
2467910 5 Part of the square root of a number s 0.1. The number is:

Toh G & QA 1 ; UITT0.1 51 T e:

0.0009

0.0009
B 0.01
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0.01

0.00009
C
0.00009
0.09
D
0.09

Correct Ans : D

Subject : Mathematics

Q.No: 67 /6687 is equal to:

2467933
\/608% B IR %:
79
A
79
78
B
78
77
Cc
77
70
D
70

Correct Ans : B

Subject : Mathematics

Q.No: 68 i 121
2467980 What will be the value of E?

112—61 BT HIE T G2

0.162
A

0.162

2.75
B

2.75

16.3
C

16.3

0.16
D

0.16

Correct Ans : B

Subject : Mathematics

Q.No: 69 The cells of a bacteria double themselves every hour. How many cells will there be after 8 hours, if initially we start with 1 cell. Express the answer in powers.
2468284

T AT 3T SIRBE 8 G S 37T B ST FR TWell § 1 8 HE & WG fobaht DIRIBIE 2ivll, SR TH AT F 1 BIRPT I & R 8| IR DI 61 § 5 Biforl

A
pi
B 216
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28

Correct Ans : D

Subject : Mathematics

Q.No: 70 The sum of digits of a two-digit number is 8. If the number formed by reversing the digits is less than the original number by 18, find the original number.
2468301

3l ST B TF YBN F S{HT BT I 8 § | TfY SlabT 1 Iete A &+l I g TE F 18 FH B, Ig@ = i i)

44
A

44

53
B

53

35
Cc

35

62
D

62

Correct Ans : B

Subject : Mathematics

Q.No: 71  Which of the following statement is correct?
2468562
(A) Inductive method proceeds from example to formula

(B) Deductive method proceeds from abstract to concrete

fufifed &  SH-ur oy ud 32
(A) TS AR IETER0T & T a5 7T dgalt gl
(B) Fwm faftr oy § 319 q@ 3l el gl

Both A and B are correct

AR BINTERE

Both A and B are incorrect

A 3R B gFl Tad §

A is correct and B is incorrect

ATERARBITAR

A is incorrect and B is correct

AT R IR B TR

Correct Ans : A

Subject : Mathematics

Q.No: 72 The Greek philosopher, Socrates is the exponent of

2468623
TR eI b Uk §
Lecture method

A
e fafy

Nuinckinn_Ancisar meathad
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WUSSUUI-AIISWET HHIEuIva

B
Y-SR fafy
Tutorial method
C
TR Yy
Demonstration method
D

yeu Ry
Correct Ans : B

Subject : Mathematics

Q.No: 73 Rahul has a bag. In that bag there are 1300 coins of 25 paise and 150 coins of 5 rupees. Find the ratio of the value of 25 paise coins to the value of 5 rupee coins in that bag.

JGA F U T A 1 39 S H 25 T F 1300 Ried 9IR 5 ¥0 F 150 RiF 1 39 91§ 25 T & Riee! o1 7@ o1 5 300 & Riga! & 4 J o 91 i)

2469686

40 : 27
A

40 : 27

13:40
B

13:40

13:30
C

13:30

10:13
D

10:13

Correct Ans : C

Subject : Mathematics

Q.No: 74  Which one of the following is a polynomial?
2469952

Fofafad # § -9 TF 959 37

x* 2
2 x?

x: 2
2 x*

1
\/Ex—g

x+1

x-1
Correct Ans : C

Subject : Mathematics

Q.No: 75 An expression which contains two unlike terms is called
2470023

TH o R 31 3RH U5 24 &, FEa gl

A trinomial
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[EL

monomial
B

THUg

polynomial
C

Sgua

binomial
D

fgue

Correct Ans : D

Subject : Mathematics

Q.No: 76  Find the ratio of 35 Paise to Rs.3

2473319
35 19 3R 3 TUA T SIUE TG DI
6:70
A
6:70
7:60
B
7:60
5:35
C
5:35
35:3
D
35:3

Correct Ans : B

Subject : Mathematics

Q.No: 77 A box has 210 coins of determinations one rupee and fifty paise only. The ratio of their respective value is 13:11. The number of one rupee coins is:
2473418

T 3o # U $ud ok A 09 & 210 Riad §1 390 Gafd Jea &7 Sigud 13:11 § o o U & Ryaa! 31 Wem 3 fefon:

65
A

65

66
B

66

77
C

77

78
D

78

Correct Ans : D

Subject : Mathematics

Q.No: 78 Modern Teaching models have been classified into

2475520
anyfa Rigror Aisa & Fifea far mar §
Two families
A 2 v
Three families
® £ et A
Four families
¢ e et
D None of the given options
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fa g fawedt # & HE T
Correct Ans : C

Subject : Mathematics

Q.No: 79 The introductory question should

2475533
IREATHS U B ATy
be based on previous knowledge of the students
A
B & fIed I9 | IRk &t
difficult
B
Hfe
C have_ no linkage
PIE Yoy T F
D not very easy
Fga M e

Correct Ans : A

Subject : Mathematics

Q.No: 80 Which two signs should be interchanged to make the given equation correct?

2479397
13+47-5x4+2=46
fou Tu geiieRu B TEl SR & g fp 31 Rl 1 oo H saen W <iey?
13+47-5%x4+2=46
<+ and x
A
2 R x
-and x
B
- 3R x
<+ and +
C
+ 3R+
+ and -
D
+ 3R -

Correct Ans : B

Subject : Mathematics

Q.No: 81 1If'-'is represented by 'x', 'x' is represented by '+', '+' is represented by '+' and '+' is represented by '-', then what will be the value of 80 + 79 x 12 - 56 + 28?
2479450

e =" B %" GRT, 'x" B+ GRI, '+ BT '+ GRIAYT '+ Bl '-' GRI RGN A1 S, A 80 + 79 x 12 - 56 + 28 B A N TA?

15
A

15

20
B

20

25
C

25

30
D

30

Correct Ans : C

Subject : Mathematics

Q.No: 82 Student can design a laboratory according to certain specification in which category of objective?
2481347
faenedf for oot & S2g A g0 fafkwdrell & SfguR wEimTTeT fEgT #R Gad 37

A Analysis

B Synthesis
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Evaluation

C
i

D Knowledge
=

Correct Ans : B

Subject : Mathematics

Q.No: 83 Effective instructors teach students strategies ____ using minimal responses,
2481421

recognizing scripts, and using language to talk about language. These strategies help students learn to

Tt TR s Hfafanslt 1 IUdRT R gU BEl BT Yo R €,
forftrdt 1 ugarHH, IR U1 & AR & 910 X & {0 TS BT ST S § Iorifonl o6 &1 Wen § 0eg Hdt §

A speak
B write
c g:;?"

Correct Ans : A

Subject : Mathematics

Q.No: 84 A suitable approach to introduce Coordinate Geometry in Class IX is through the use of
2481437

P IX 7 FEiE Sy 31 uRea 33 % 1T Ue Sugad SUTH & I9EN & meEH 9 Y

Solving problem

A e P 5e S
Demonstration using technology integration
g Treifia? Tt BT U 3R vaxE
Lecture method
¢ ST fafy
D Role play
Jaw

Correct Ans : A

Subject : Mathematics

Q.No: 85  Ideal ‘waiting time’ for getting response from students should be proportional to
2481731

B & viafear v 9 & forg st wellen gt % urd @ ARy

Difficulty level of the question

A WY P HIOTE TR

Time allotted to specific topic in the curriculum
¢ e & Ay R 3 g e S

Relevance of the question in the real life
¢ v < & v

Time taken by the students for answering questions from previous lessons

R foa uret el & SR 23 A e gRT R T 9
Correct Ans : A

Subject : Mathematics

Q.No: 86  which of the following would encourage the least a student who wants to become a highly creative theater artist?

2481831
R 7 A 31 1@ W °F 3 39 I $H Udied ST o U6 e TS AT FAGR a1 9184l 82

Try to win the State level competition that will ensure you scholarship

A o 8 SR e 1 T R R S STy g
Develop empathetic, amicable and supportive relationships with your peer theater artists
° 1P e RIGeR T 5 S TR, e R e Wl o 3
Devote your time to those theatrical skills that you find most enjoyable
¢ ST 7 T P 3 Ry S 7 S T o T
Read about the performances of the world’s best theater artists and try to learn
D

a1 & wdiE Rt Fa@R! & TeRE F aR § ug iR deT 3 HIRm By
Correct Ans : A

Subject : Mathematics

Q.No: 87 What should be the basis of an effective and successful leadership ?
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2482313

TF GUI SR TG g BT SMYR 1 ST 1T ?

Personal interest

A R o
Service of the group
® g B Jar
Welfare of the whole group
¢ o TG FT BT
D ;;;;.[se

Correct Ans : C

Subject : Mathematics

Q.No: 88 Great educationists have accepted mathematics as a symbol of

2482355
wARERIIMaH _ Fude dwuddor g
Human development
A A fsTe
Subject development
° o e
Education development
¢ fen e
D All of the above
IR & Tl

Correct Ans : A

Subject : Mathematics

Q.No: 89  Projective techniques are used to measure

2482551
........... T & forg wardt qa=itnt o1 TR foba ST § 2
Aptitude

|

Intelligence

Bl

Knowledge

3

D Personality

:

Correct Ans : D

Subject : Mathematics

Q.No: 90 The number of prime divisor of 960 is :
2483826 960 I Sy U @) ST gn:

A3
-
¢ a
o3

Correct Ans : A

Subject : Mathematics

Q.No: 91 Biofuels are blend of which two forms of alcohols?
2469511

SId $eF, SfcHIgd P B I §1 WUl BT (T 2

Ethanol and methanol

A
N iR At
Ethanol and propanol
B
TN R dieTa
Methanol and propanol
C
v SR W
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D Methanol and isopropyl alcohol

Ffer SR S Sfepied
Correct Ans : A

Subject : Environmental Study

Q.No: 92 A greenhouse gas like CO3, absorbs:
2469546

T Mg 3 I CO,, raafed Fxadrg:

heat
A
i
moisture
B
Bl
oxygen
C
SffefterT
hydrogen
D
TG

Correct Ans : A

Subject : Environmental Study

Q.No: 93 A 'carbon zero' or ‘carbon neutral' area is:

2469549
T SIE [ AT A I &7 3
The area that produces more energy on site than the area requires
A
T8 &7 S UTse R aRwar § Sifiw St e He §
The area where net amount of carbon dioxide emitted on site equals the net amount of carbon dioxide utilized by the area
B
g &7 Vel WIge TR SHR P STSIES 1 TS A 7 51 SHEN 3 T HTE SRS $ e W F ReR g6t 3
Area where no energy is produced
C
TF & 51 PIE Holl Sad 81 gt
Area where Carbon Emissions Are Zero
D

7T & E] I S [ §
Correct Ans : B

Subject : Environmental Study

Q.No: 94 Gas leaked in Bhopal tragedy was-

2469780
aiforer i et & S i R e
Potassium isothiocyanate
A
TeREH smRiurEEe
Sodium isothiocyanate
B
Tifea smErmEEETe
ethyl isocyanate
C
TURT SR
Methyl isocyanate
D
foruree sreERge
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Correct Ans : D

Subject : Environmental Study

Q.No: 95 The first necessity of ecosystem is

2470135
UIRFRURIBT 1 e SMazgehd 8-
Water
A
ot
Energy
B
St
Nitrogen
C
T
Oxygen
D
St

Correct Ans : B

Subject : Environmental Study

Q.No: 96 Which of the following strategies seems most appropriate for teaching maps to primary graders?

2470293
WS FS3 B RS TgH & R Fafifed # 9§ S @ i 9l Sugw @ §2
Drawing of the map by the teacher on the black-board and asking learners to locate different places
A
e GRT &4 SIS o FaRm & SR Rianffl & Rt @it &1 oar @ F g s
Instructing learners to bring the map of India from their home
B
e 1 S5 W ¥ HRA BT o a1 H FEW
Showing an atlas to learners and asking them to locate different places
C

et ) v Teaw feamr ok 3% faftis ==t &1 uar 7 & T e

Facilitating learners to construct maps of their immediate surroundings by using their own symbols and focusing on relative position and direction of things

Rienfidt &) S7% 9 F WiST &1 ST R AR el F wie Ry oIk R R o $Ra WP ST AN S AARE T § G e S

Correct Ans : D

Subject : Environmental Study

Q.No: 97 Maloca is a type of

2470598
HADT T TPR BT l
Food
A
=
Animal
B
SR
Bird
Cc
fafear
House
D
HPH

Correct Ans : D

Subject : Environmental Study
Q.No: 98 Integrated Watershed Management Programme (IWMP) launched in which year
2472301
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THIpd RIS TaeH SiHA (IWMP) f5g a8 & fovar Tar

2001
A

2001

1990
B

1990

1988
C

1988

2002
D

2002

Correct Ans : B

Subject : Environmental Study

Q.No: 99 Plants with weak stems that cannot stand upright but spread on the ground are called?

2472547
PSR 3 a1d G0 o G W T @ e AT i TR ) U T, e 7
Climbers
A
¥
Creepers
B
dl
Herbs
C
st g
Shrubs
D
EUS

Correct Ans : B

Subject : Environmental Study

Q.No: 100 Who first propounded the theory of social evolution?

2472553
S Ty @1 Rigid, Jdum feen ufeied far
Aristotle
A
ST
Darwin
B
wifd
Herbert spencer
C
T TR
Skinner
D
R

Correct Ans : C

Subject : Environmental Study

Q.No: 101 What kind of fruits will the dentist tell to eat for the relief of toothache?
2472648

<d fafhea® 3l < faRu & o {50 e & Ha GH S Ham?
A Dry fruit
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TP B

Fresh fruit
B

St Bl

Sour and juicy fruits
(o}

g IR WER BA

Sweet and tangy fruit
D

S T4 [ER B
Correct Ans : C

Subject : Environmental Study

Q.No: 102 Beri-Beri is caused due to deficiency of-
2472715

-3 fpue] S0 & SR Fial B-

Vitamin B1

et B1

Vitamin B2

e B2

Protein

o

Enzymes

Tong
Correct Ans : A

Subject : Environmental Study

Q.No: 103 The house of monkey, lion and rat are sequentially

2472991

gy, g iR 9 T R FH: §-

Nest, tree and cave
A

Hiea, ¥ iR I

Cave, burrow and tree
B

o, i R O

Tree, cave and burrow
C

g, w1 d foa

Burrow, tree and cave
D

fag, U ok T
Correct Ans : C

Subject : Environmental Study

Q.No: 104 HERMES is a mission by:

2474089
2% (HERMES) frad gR1 U fasH g2
NASA

A
B
DRDO

B
Eh.aR. 2t 3m.
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Cc JAXA

ISRO

B

Correct Ans : A

Subject : Environmental Study

Q.No: 105 As per World Seed Trade Statistics, India has largest size of domestic seed market in the world.
2475753

3y v MR wifsTa! & ofER, HRA H gl & e IS SR 31 T TS IR

5th
A

Sth

6th
B

6th

7th
C

7th

10th
D

10th

Correct Ans : B

Subject : Environmental Study

Q.No: 106 The first fertilizer factory in India was opened in:

2475767
HRA T Ty S&RP PRGN Hel @il T o1 2
Kerela
A
Fa
Tamil Nadu
B
affrerg
Andhra Pradesh
C
NERCE
Karnataka
D
FlcP

Correct Ans : B

Subject : Environmental Study

Q.No: 107 India is the largest producer of oilseeds in the world. Is the statement correct?
2475769

YR fay T foeeT &1 Ted 581 SRS ¢ 71 U el 82

Yes
A
K|
No
B
Rl
India does not produce oilseeds
C
URA ¥ fiere o1 S T B §
D Can't be determined
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fReffee €T faran < wpar @
Correct Ans : A

Subject : Environmental Study

Q.No: 108 Which of the following is not a physical farm input?

2475844
frafefed & 7 i Bf i T
Sunshine
A
Lickeany
Labour
B
Ll
Soil
C
7
Rainfall
D
auf

Correct Ans : B

Subject : Environmental Study

Q.No: 109 Which of the following is a traditional way of irrigation?

2475860
fofafed & & o9 wr R &1 uRuis alier §2
Subsurface drip system
A
U fgu @
Chain pump
B
Ealit|
Sprinkler system
C
[EEERCKGE
Drip system
D
fguda

Correct Ans : B

Subject : Environmental Study

Q.No: 110 Tea bushes require and moist
2475960

climate all through the year

T B A Bl ITH F g iR , T IR SAarg Bt SaRIFHarR gl

cool, full of frost

A

ST, T aret

cool, frost-free
B

T, UrRET

warm, full of frost
C

YT, I arelt

warm, frost-free
D

P, GrEARTET
Correct Ans : D

Subject : Environmental Study
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Q.No: 111 Which country is the largest produces of green peas in the world?

2475987
fay 7 g8 7ex &1 IS ST IAEH 4 B A 32
China
A
9
Brazil
B
EES)
Australia
Cc
siefm
Canada
D
CEIc)

Correct Ans : A

Subject : Environmental Study

Q.No: 112 hich stadium is considered the biggest cricket stadium based on capacity?

2476514
& (HARI) F SR W e RiYwA  wad F1 e RfSam w1 o 82
Narendra Modi Stadium
A
Tz A RidTH
Melbourne Cricket Ground
B
Tt e TS
Lords
C
g™
Eden Gardens
D

TSN

Correct Ans : A

Subject : Environmental Study

Q.No: 113 What are NOT the benefits of using an activity approach for an EVS teacher?

2477244
Siiea e 3 forg fram snenfed vl & Swm &7 & @1 8 T 32
It takes less time to prepare than a lecture or a demonstration
A
IR AT RERA Bt g & FRt & S0 W
it will promote and support by providing a range of appropriate educational material and ideas
B
T Iugw e e R freRt 1 v e wer w=% wER SR T e
it does not add any extra burden
C
T B Sifdfed S Tem T ¥
Creative use of materials will satisfy students
D

T T TS ST BHT Bl UIE P

Correct Ans : A

Subject : Environmental Study

Q.No: 114 Practical skills help in improving drawing skills of students in which of the following ways?
2477314
1. Drawing circuit diagrams

2. Drawing maps from unobserved data
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 30/42
Page - 30



Choose the correct code

wiEs SR Fafaed ¥ 3 fea 7F 3 orl F gRa i § gUR T | 7eg Fd 82
1.3 URYY IRE

2. 3fqqe 7 6T 1Y et | AR

LEEZCEC]

1 only

Fad 1

2 only

Fad 2
both 1 and 2

M1 3R 2

neither 1 nor 2

aAA1dRAR2

Correct Ans : C

Subject : Environmental Study

Q.No: 115 In which method of teaching economics, the teacher and students together understand the economics theories using reality shows like situation?
2477394

SRR Ug & o Ul A Rigres iR o1 fyaas Raferdt it sioxdl fRufa &1 Iudht e eri=ivg & Rigidl & wo9a 82

Discussion
A

it

Simulation games in Economics
B

s Riga @

Problem based learning
C

R - STUTRd i

Learning through concept maps
D

SGYRUT THET & Ared § e

Correct Ans : B

Subject : Environmental Study

Q.No: 116 Learning resources can be broadly classified into:
2477398

i. Institutional resources

ii. Media resources

iii. Human made resources

iv. Confidential resources

Choose the correct code.

SfTH ¥ W1 B AR IR W aiffed foar s gaar & H:
i. TRINTT |aTeH

ii. TifEar geua

iii. A9 PR dare

iv. Tog FEee

Only iv

Fad iv

Only i and iii

Faa i AR i
C Only iii and iv
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Fad i 3R iv

Only i, ii and iii
Fad i,ii 3R i

Correct Ans : D

Subject : Environmental Study

Q.No: 117 Which town is not a part of Taj Trapezium?

2477854
I W R Aol Cufor 1 fowr T 82
Agra
A
STRI
Firozabad
B
[LREIEICe
Mathura
Cc
Rk
Gaziabad
D
RUEEICIC

Correct Ans : D

Subject : Environmental Study

Q.No: 118 Which of the following is NOT a hazard that is both natural and man-made?

2477911
Frofaiaa & 3 & a1 Yt ender 76 @ S wiefde ok wHa Afifa <1 & aea 32
Wars
A
kel
Earthquake
B
ks
Forest-fire
C
A (PRE-HTR)
Landslide
D
e

Correct Ans : A

Subject : Environmental Study

Q.No: 119 The process of people moving away from congested urban areas to cleaner areas outside the city in search of a better quality of living is called what?
2477930

S Pt IR Tora &1 aar H Higuis ar e &F 9 TR & AR WS A3 § AR B I B UHAT B T BT 9 82

Urbanization

A
Euticau
Sub Urbanization
B
[T TR0
Ruralization
C
Rluivicaul
D Localization
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RIAAHIOT

Correct Ans : B

Subject : Environmental Study

Q.No: 120 Which of the following shows climate, soil, forest areas, resources, rainfall, etc.?

2478700
Frofared & & T Sear, T, 99 &, Se, a9t ofs B U Fd 7?2
Physical Maps
A
WIpTiE AR
Political Maps
B
S HATRE
Economic Maps
C
e TR
Social Maps
D
IS HfE

Correct Ans : A

Subject : Environmental Study

Q.No: 121 The changes that occur in development are seen as-
2473579

A # 91 91 TRTFA IR WA § -
Physical
A
Rutiicd
Creative
B
REEICED
Destructive
C
fammeT®
Creative and Destructive
D

TEF 9 TS
Correct Ans : D

Subject : Child Developement

Q.No: 122 Development is a process.
2473586
slow
A
fift
continuous
B
R
fast
C
it
medium
D
2t

Correct Ans : B

Subject : Child Developement

Hereditv nlavs most imnortant role in the -
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L

Q.No: 123
2473731
T o HEaqu bt Fvma §
Emotional development
A
HETHS fapra
Cultural development
B
Tiepfae faer
Physical development
(o}
TR e
Social development
D

I T

Correct Ans : C

Subject : Child Developement

Q.No: 124 Which one of the following sequences of steps is the correct way of preparing a balanced question paper?

2474272

Pl sredl § A SN Igii vy T JuR B @1 a9 Rl &

preparing a design, preparing a blueprint, writing and editing the questions, writing the marking scheme
A

T FEIET FUR A1, T fife FUR BT, Wil 81 fRrgepy SUe WU T, Hedlie WhiH Y g

preparing the design, writing the questions, preparing the marking scheme, matching with the blueprint
B

fEoTeT AUR B, e T foreT, Heie W QUR v, Wit § fram e

writing and editing the questions, matching with the design, preparing the blueprint, writing the marking scheme
Cc

Wy e 3R Wuree B, FSoIe | e 31, Wit GR35, Jeaid Wi e

writing the questions, preparing the blueprint, matching with the design, writing the marking scheme
D

wy fore T, <file JOR S, SR & Oy fidH &<, Hedie @i fRran
Correct Ans : A
Subject : Child Developement

Q.No: 125 Verbal and non-verbal individual group, power, speed standardized or non-standardized test are examples of

2474442
AfaF ok R-MEF i uyg, Wid, 1l aFSiEd a1 R a@iEd sl F IR 3
projective methods
A
naueTe fafet
psychological methods
B
e faft
longitudinal tests
C
geef adiemr
cross sectional methods
D

SR FHEr farrgt
Correct Ans : B

Subject : Child Developement

Q.No: 126 Which of the following is not an acquired trait of a learner?
2474509

Frofuiee & & SH-w v Rigndf o1 aifofa or 7 &2

A height
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g

cultural outlook

B
Biscancatean
education
C
TRren
manners
D
RerEr

Correct Ans : A

Subject : Child Developement

Q.No: 127 NUEPA is mainly concerned with-

2474634
NUEPA T&1 ¥ ¥ forad Teifdd §-
Educational Supervision
A
e wiRem
Educational Unity
B
e wwa
Educational Planning
[
e
Educational Evaluation
D

AR FeaiET
Correct Ans : C

Subject : Child Developement

Q.No: 128 In learning disabilities, the name for mathematical disorder is:

2475374
kg &1 sremar (af+in fsafaferd)) &, nfordta faer &1 @ §:
Dyspraxia

A
SistEse)
Dyslexia

B
feifean
Dyscalculia

C
[SREEEIRR
Dysphasia

D
fe<ifmn

Correct Ans : C

Subject : Child Developement

Q.No: 129 which of the following are the characteristics of counseling process?
2475441

1. Professional service

2. Centre-problem of client

3. Client made discussion

4. Personal involvement with the client

Select the correct answer using the codes given below

i § & o el ufkar S qor-o 87
1. URR a1
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2. TRE D G BT D%

3. TS Fftfa ==

4. TR F Y AT g

2 fau T IS 1 SHHI P g Fel SR BT 9 Y

1and 2
A
18R 2
1and 4
B
13R 4
All of the given options
C
feg g welt faeq
1,2and 3
D
1,29R3

Correct Ans : D

Subject : Child Developement

Q.No: 130 The ability to use large muscles of body is called . The ability to use small muscle of the body is called
2476274
TRR F I AGIRE FT SUT I FI &7 B el ST B TR B S TR T ST TR B & BV
gross sensory skills, fine sensory skills
A
TPa G DI, JeA I3 PR
gross motor skills, fine motor skills
B
TP Ak PIRIG, P Al BT
gross muscle skills, fine muscle skills
[
fine muscle skills, gross muscle skills
D

3 AIEURT PR, THd AR IR
Correct Ans : C

Subject : Child Developement

Q.No: 131 To get a creative thinker we need to know

2476729
U@ T [JERE B & I g8 1 ST SR §
the kind of thinking that characterized a person
A
T WG @1 9 S e afe @t fodian €
his score on an intelligence test
B
T g T R IS Sl
both thinking on score on intelligence test
C
T I T R 3
inductive and deductive thinking scores
D

SIS 3R FTHAIeTs O Si

Correct Ans : A

Subject : Child Developement

Q.No: 132 Interests are usually classified on the basis of the nature of involved.
2476892
Sl Y AR W P UPIA T YR W Fiepd fopar Sar 21
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A acuvity

Ty
people

Bl

generation

it

status

Rfa

Correct Ans : A

Subject : Child Developement

Q.No: 133 In a primary school, the teacher took all the children to the post office. Which of the following is the learning objective behind such a visit?
2476910

TS T femae & Ries @ 9= &1 SIH| o U 39 R & oR & UIe e 31 Iexa Fofafaa A A s ang?

Entertainment

A
TR
Excursion
B
R
Social participation
C
[ yrfiert
Exposure
D
S{AERT

Correct Ans : C

Subject : Child Developement

Q.No: 134 According to the Juvenile Justice Act, 2015, a “child” means a person who has NOT completed years of age.
2477662
e = i, 2015 F SER, "fHUR (A5wE)" o1 o 39 =R 4 & Be 9 T amg & T R
15
A
15
18
B
18
20
C
20
21
D
21

Correct Ans : B

Subject : Child Developement

Q.No: 135 The concept of inclusive education is based on
2478118

Furasit fRiem Y srauRon TR e &

Rights of the children with disability only

S fawan s=i & SR

B Rights of the teachers to get trained
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et ot uRfAT F37 B1 RISR
Rights of all the children to learn together

Tt = B U@ Y W F7 SRBR

Rights of the children from diverse background only

Faa fafdy gy & 9= & PR

Correct Ans : C

Subject : Child Developement

Q.No: 136 According to Piaget When a child's existing schemas are capable of explaining what it can perceive around it, it is said to be in a state of
2479069

o F SFIOR o€ U q< & Hiol 1 98 Gu B & g § T 98 o oTy-ure o1 3 Wbl 8, ot 98 by srawi § Fgt e

New Situation

A

& Ry

Equilibrium
B

dgert

Disequilibrium
Cc

STt

Confusion
D

o o Ry

Correct Ans : B

Subject : Child Developement

Q.No: 137 Under Pavlov’s theory, the light or the sound of bell was?

2479206
yreid & Rigid & ded A=l a9l 91 snar A
Unconditioned stimulus
A
ST SEIT
Unconditioned response
B
ST erfman
Conditioned stimulus
C
Wil S
Conditioned response
D

St i

Correct Ans : B

Subject : Child Developement

Q.No: 138 Suppose an organism is conditioned to elicit a Conditioned Response on presentation of a Conditioned Stimuli. After conditioning is established, and another stimulus similar tc

2479242 Thjs phenomenon of responding similarly to similar stimuli is known as
s Yot ) el SElus U R IR el SrIfehar Ui &R & fore ergefa fovan man R1 ergeed wifd 8 9 & @18 W9 SR IS & WHH $IS U Iqeiud URgd fasar S Y ol
Generalisation
A
HHARASROT
Discrimination
B
e
C Spontaneous Recovery
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qa: gAfar

Extinction

fadig

Correct Ans : A

Subject : Child Developement

Q.No: 139 Instrumental purpose orientation belongs to which of the following level of Kohlberg’s theory of moral development.
2479307

T o= Siffa-ar Pt % e e Rigid 6 P § A 5y w3 I 3

Orientation level

A
S 'R
Conventional level
B
IRURS R
Preorientation level
C
o N 'R
Preconventional level
D

Jd-URURE &R
Correct Ans : D

Subject : Child Developement

Q.No: 140 Which of the following is not one of the subdivisions of content under the theory of intelligence propounded by Guilford?
2479741

PufalRea & 3 31 fMawls gr1 ulduid e & Rigid & ded Rvgayg () & udsT A Q ue 7 82

Visual

A
T (fagarmm)
Semantic

B
wreard A (Riifew)
Symbolic

C
wditeTEs (Ridie)
Evaluation

D
e (FTE)

Correct Ans : D

Subject : Child Developement

Q.No: 141 Which of the following is NOT a schedule of Reinforcement?

2479865
Fafifed & & o Fedioxu 3 s T8 82
Fixed Interval Schedule
A
P sfoerer orgeet
Variable ratio Schedule
B
TR S SrIREST
Ratio Variable Schedule
C
argard uftad srrgel
Variable Interval Schedule
D

ufkad-ia sieRTa gl
Correct Ans : C
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Subject : Child Developement

Q.No: 142 Which of our actions and behaviour are directed by emotions?
2480070
I. Internal

I1. External

AR P 4 B SR TR Fa g1 FERE 8 82
1. 3fiaias
IL. 9Tedt

Only I is true

Faa 19T B

Only II is true.

Fad 11 9 g

Both I and II are correct

I 3R I g Ot §

Neither I nor II is correct.

TRIART I TR

Correct Ans : C

Subject : Child Developement

Q.No: 143 Teachers should look at as a social, cultural and political phenomenon among children?

2480105
Re@i®l 5= & dF 0 I, IRPlie SR Aerifad ge & w0 § &&1 @ifee?
Parents
A
T - far
Children
B
o=
Religion
Cc
o
Administration
D

TR
Correct Ans : C

Subject : Child Developement

Q.No: 144 How will you deal with a student who ignores all your commands?

2480191
31 U U el & ary $8 Fued, s emue @t smnali @ Sher e 82
Talk to him and ask the issue
A
I 99 BT AR T g
Negatively reinforce him
B
I TERHS Y A Geg P4t
Positively reinforce him
C
I UPRIGTF FU 9 Geg 4T
Talk to him and ask the issue and negatively reinforce him
D

I 99 BT AR TN G AR S TORIAS T A Geg B4l

Correct Ans : A
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Subject : Child Developement

Q.No: 145 A child always read and write 'b' as 'd'. Which of the following problem is he is suffering from?

2480259

TP 1 GAR 'b' Bl 'd’ F = § vgar oiR fergan §1 a8 Fafaiea § 9 g wmwr 3 difsa 82

Learning difficulty
A

ST HeTE

Mental retardation
B

TR Hedr

Visual impairment
Cc

TN

Hearing impairment
D

HIUI SIY

Correct Ans : A

Subject : Child Developement

Q.No: 146 The National Curriculum Framework, 2005 suggests which of the following examination reforms?

2480655
I UTeTEal U, 2005 A6 P § frw udten G guRt @ gemn mr )
Class X examination optional
A
FaT-X T Te A
State level exams to be conducted at different stages of school education
B
fererrerdt e &1 faftrar srarurelt R 6T TR Bt Then FareT
Competitive entrance examinations optional
C
afEr vaw adad e
All of the given options
D

g T Wi fawe

Correct Ans : A

Subject : Child Developement

Q.No: 147 Which of the following represents a pilot school for the collaboration with the Faculty of Health Sciences for the placements of students undertaking the practical component of
2480815

Faffea & & S W Td o Il & ARG 9P W SR URY $ a1 SF St (Hafaddl & o W foe Yo/ & 1 9gam & e '@ 1q@ ga &1 Ufafia a=al 82

Sivuyiseni Primary

A
FRgedeht e
Intshayelelo Primary
B
Ecacriaiteg
Ummangaliso Primary
C
SRS e
Montessori
D
T

Correct Ans : B

Subject : Child Developement

Q.No: 148 In the process of socialisation Parents and parenting style plays a major role. Which parenting style should be adopted by parents?
2480851
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TSR Bt gfar F Arar-Rar ok arar-fa 3 Ao e v yfivet R 31 aw-fan gR1 R ge Qe ) s s Ak

Strict
A

&l

Relaxed
B

e

Balanced
(o}

dgfera

Overprotective
D

SfoeRiga
Correct Ans : C
Subject : Child Developement

Q.No: 149 What is the formulae of IQ to calculate the by William stern?
2480891

faferm e gRT Sag B U FA F fore T g7 72

100
1Q = M.AXﬁ
A
100
1IQ = M.AXH
100
IQ = C.A)(m
B
100
1Q = C.A)(m
M.A
IQ = C.AXW
C
MA
IQ = C.A)(m
100 100
IQ = MA Xz andIQ = CAX 5y both
D
100 100
IQ = M.Axa.’ﬁh‘lq = CAXyg

Correct Ans : A

Subject : Child Developement

Q.No: 150 children are able to reason on the basis of hypotheses and propositions in which stage of cognitive development?

2482229

TS e @ g saen § 95 aReearel ik ufiufrl & onuR ® o oo 3 wadf € o €2

Sensorimotor

A

IS (HIR)

Pre-operational
B

yd-Hfsarees

Concrete operational
C

LKER e

Formal operational
D

o fraers
Correct Ans : D
Subject : Child Developement
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